# SB013-23

## **On-Demand Streets and Stormwater Maintenance on an Annual Contract Engineering**

					Paving	The Dickerson Group, Inc.	
ITEM #	DESCRIPTION	APPI Q1		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	Warranties & Bonds	1	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
2	Demo Exis. Concrete Curb & Gutter	400	LF	\$32.00	\$12,800.00	\$12.00	\$4,800.00
3	Demo Exis. Concrete Sidewalk Incl. H/Cap Ramps & Bricks.	300	SY	\$52.00	\$15,600.00	\$30.00	\$9,000.00
4	Demo Exis. Concrete Driveways	300	SY	\$52.00	\$15,600.00	\$30.00	\$9,000.00
5	Demo Exis. Concrete Catch Basin Top & Throat	20	EA	\$500.00	\$10,000.00	\$1,500.00	\$30,000.00
6	Remove & Replace Exis. Pedestal, Mh, Jb, & Cb Tops	20	EA	\$2,800.00	\$56,000.00	\$500.00	\$10,000.00
7	Ditch/ Stream Cleanout – Remove Debris Loose Material, Silt, And Vegetation At Culverts & Storm Drain Structures And Hall Off Unsuitable Soil To Ensure Positive Drainage.	100	CY	\$225.00	\$22,500.00	\$50.00	\$5,000.00
8	Demo Exis. Pipe (All Types, Up To 30") Include Backfill	50	LF	\$295.00	\$14,750.00	\$20.00	\$1,000.00
9	Demo Exis. Pipe (All Types, From 30" Up To 60") Include Backfill	50	LF	\$395.00	\$19,750.00	\$20.00	\$1,000.00
10	Construct Complete New - All Included - Sidewalk With Bricks Pavers - W/ Broom Finish, Min. 3,000 Psi	500	SY	\$325.00	\$162,500.00	\$75.00	\$37,500.00
11	Construct Complete New - All Included - Sidewalkwith No Bricks Pavers - W/ Broom Finish, Min. 3,000 Psi	500	SY	\$175.00	\$87,500.00	\$55.00	\$27,500.00
12	Construct Complete New - All Included ADA Ramp	100	SY	\$1,125.00	\$112,500.00	\$180.00	\$18,000.00

13	Construct Complete New - All Included - Con., Curb & Gutter. 6 In X 24 In, Including GAB & Excavation	500	LF	\$85.00	\$42,500.00	\$25.00	\$12,500.00
14	Construct Complete New - All Included - Con., Curb & Gutter. 6 In X 30 In, Including GAB & Excavation	500	LF	\$85.00	\$42,500.00	\$25.00	\$12,500.00
15	Construct Complete New - All Included - Concrete Driveway Apron, 6" Thick - W/ 6x6 Wwf & GAB Including Excavation)	500	SY	\$120.00	\$60,000.00	\$95.00	\$47,500.00
16	Install Complete Class "B" Concrete	50	CY	\$425.00	\$21,250.00	\$400.00	\$20,000.00
17	Install Complete Flowable Fill	25	CY	\$275.00	\$6,875.00	\$400.00	\$10,000.00
18	Construct Complete All Included - Double Wing Catch Basin (Less Than 6' Depth)	30	EA	\$6,800.00	\$204,000.00	\$10,000.00	\$300,000.00
19	Additional Depth –For Double Wing Catch Basin	1	LF	\$1,200.00	\$1,200.00	\$650.00	\$650.00
20	Construct Complete All Included - Single Wing Catch Basin (Less Than 6' Depth)	30	EA	\$6,800.00	\$204,000.00	\$10,000.00	\$300,000.00
21	Additional Depth For Single Wing Catch Basin	1	LF	\$1,200.00	\$1,200.00	\$650.00	\$650.00
22	Construct/Replace Complete Con. Tops For Catch Basins & Manholes & Junction Boxes	30	EA	\$2,000.00	\$60,000.00	\$3,500.00	\$105,000.00
23	Construct Complete All Included - Pedestal Inlet (Less Than 6' Depth)	15	EA	\$6,000.00	\$90,000.00	\$10,000.00	\$150,000.00
24	Additional Depth For Pedestal Inlet	1	LF	\$1,200.00	\$1,200.00	\$650.00	\$650.00
25	Construct Complete All Included - Hood & Frame Drop Inlet With Vine Grate (Less Than 6' Depth)	30	EA	\$6,000.00	\$180,000.00	\$10,000.00	\$300,000.00
26	Additional Depth For Hood & Frame Drop Inlet With Vine Grate	1	LF	\$1,200.00	\$1,200.00	\$650.00	\$650.00
27	Construct Complete All Included - Manhole (Less Than 6' Depth)	15	EA	\$6,000.00	\$90,000.00	\$10,000.00	\$150,000.00
28	Additional Depth For Manhole	1	LF	\$1,200.00	\$1,200.00	\$650.00	\$650.00
29	Construct Complete All Included - Doghouse Manhole (Less Than 6' Depth)	3	EA	\$6,000.00	\$18,000.00	\$8,500.00	\$25,500.00
30	Additional Depth For Doghouse Manhole	1	LF	\$1,200.00	\$1,200.00	\$650.00	\$650.00
31	Construct Complete All Included – 18" Flared End Section	5	EA	\$10.00	\$50.00	\$1,700.00	\$8,500.00

32	Construct Complete All Included – 24" Flared End Section	5	EA	\$10.00	\$50.00	\$1,900.00	\$9,500.00
33	Construct Complete All Included – 30" Flared End Section	5	EA	\$10.00	\$50.00	\$2,000.00	\$10,000.00
34	Construct Complete All Included – 36" Flared End Se	5	EA	\$10.00	\$50.00	\$2,500.00	\$12,500.00
35	Construct Complete All Included – 42" Flared End Section	5	EA	\$10.00	\$50.00	\$3,200.00	\$16,000.00
36	Construct Complete All Included – 48" Flared End Section	5	EA	\$10.00	\$50.00	\$4,000.00	\$20,000.00
37	Construct Complete All Included - 18" Precast Concrete Headwall	15	EA	\$10.00	\$150.00	\$1,800.00	\$27,000.00
38	Construct Complete All Included - 24" Precast Concrete Headwall	15	EA	\$10.00	\$150.00	\$1,800.00	\$27,000.00
39	Construct Complete All Included - 30" Precast Concrete Headwall	15	EA	\$10.00	\$150.00	\$1,800.00	\$27,000.00
40	Construct Complete All Included - 36" Precast Concrete Headwall	15	EA	\$10.00	\$150.00	\$2,300.00	\$34,500.00
41	Construct Complete All Included - 42" Precast Concrete Headwall	15	EA	\$10.00	\$150.00	\$2,500.00	\$37,500.00
42	Construct Complete All Included - 48" Precast Concrete Headwall	15	EA	\$10.00	\$150.00	\$3,000.00	\$45,000.00
43	Construct Complete All Included - 54" Precast Concrete Headwall	15	EA	\$10.00	\$150.00	\$3,900.00	\$58,500.00
44	Construct Complete All Included - 60" Precast Concrete Headwall	15	EA	\$10.00	\$150.00	\$5,000.00	\$75,000.00
45	Install Complete 5" Concrete Flume	150	SY	\$225.00	\$33,750.00	\$95.00	\$14,250.00
46	Install Temporary Silt Fence Type "C" All Included.	400	LF	\$4.00	\$1,600.00	\$4.50	\$1,800.00
47	Install On All Disturbed Areas Permanent Vegetation & Landscaping - Grassing- Sod (All Types) To Match Existing Including Agricultural Lime - Fertilizer Mixed Grade & Watering. All Included	200	SY	\$59.00	\$11,800.00	\$40.00	\$8,000.00

48	Install Temp. Inlet Protection At All Inlet Structures All Included.	4	EA	\$1,200.00	\$4,800.00	\$150.00	\$600.00
49	Stone Rip Rap Type I, Complete In Place (Including Filter Fabric)	500	TON	\$110.00	\$55,000.00	\$70.00	\$35,000.00
50	Stone Rip Rap Type Iii, Complete In Place (Including Filter Fabric)	500	TON	\$100.00	\$50,000.00	\$75.00	\$37,500.00
51	Install Complete In Place - Graded Aggregate Base Compacted (GAB) - 6" - 10" Thick All Included	100	TON	\$110.00	\$11,000.00	\$55.00	\$5,500.00
52	Install All Included Complete - # 57 Stone In Place.	100	TON	\$75.00	\$7,500.00	\$75.00	\$7,500.00
53	Street Patching. Asphalt Saw Cuts & Patching (Min 6" GAB Compacted, Min. 3" 19 Mm Binder & Min. 2" 9.5 Mm Topping) Compaction Including & Tack	50	SY	\$210.00	\$10,500.00	\$210.00	\$10,500.00
54	Road Cut Repair (10" Concrete Cap With 1.5" Asphalt Patch 9.5 Mm Superpave)	50	SY	\$275.00	\$13,750.00	\$275.00	\$13,750.00
55	Remove And Replace Unsuitable Soil – All Included	40	CY	\$105.00	\$4,200.00	\$60.00	\$2,400.00
56	Install Complete 18" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$168.00	\$16,800.00	\$110.00	\$11,000.00
57	Additional Depth For 18" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
58	Install Complete 18" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$143.00	\$14,300.00	\$110.00	\$11,000.00
59	Additional Depth For 18" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
60	Install Complete 24" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$186.00	\$18,600.00	\$120.00	\$12,000.00

61	Additional Depth For 24" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
62	Install Complete 24" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$145.00	\$14,500.00	\$120.00	\$12,000.00
63	Additional Depth For 24" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
64	Install Complete 30" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$211.00	\$21,100.00	\$145.00	\$14,500.00
65	Additional Depth For 30" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
66	Install Complete 30" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$163.00	\$16,300.00	\$145.00	\$14,500.00
67	Additional Depth For 30" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
68	Install Complete 36" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$245.00	\$24,500.00	\$171.00	\$17,100.00
69	Additional Depth For 36" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
70	Install Complete 36" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$175.00	\$17,500.00	\$171.00	\$17,100.00
71	Additional Depth For 36" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00

72	Install Complete 42" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$275.00	\$27,500.00	\$220.00	\$22,000.00
73	Additional Depth For 42" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
74	Install Complete 42" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$189.00	\$18,900.00	\$220.00	\$22,000.00
75	Additional Depth For 42" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
76	Install Complete 48" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$316.00	\$31,600.00	\$275.00	\$27,500.00
77	Additional Depth For 48" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
78	Install Complete 48" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$191.00	\$19,100.00	\$275.00	\$27,500.00
79	Additional Depth For 48" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
80	Install Complete 54" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$371.00	\$37,100.00	\$340.00	\$34,000.00
81	Additional Depth For 54" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$40.00	\$40.00
82	Install Complete 54" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$259.00	\$25,900.00	\$1.00	\$100.00

83	Additional Depth For 54" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$1.00	\$1.00
84	Install Complete 60" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$441.00	\$44,100.00	\$377.00	\$37,700.00
85	Additional Depth For 60" RCP Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$45.00	\$45.00
86	Install Complete 60" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins. (0' To 8' Deep)	100	LF	\$273.00	\$27,300.00	\$377.00	\$37,700.00
87	Additional Depth For 60" HDPE Pipe Incl. Stone Bedding, Stone Backfill Up To Spring Elevation, Shoring & Including All Tie-Ins.	1	LF	\$125.00	\$125.00	\$45.00	\$45.00
88	Remove/Relocate Road Sign, Incl. Mailboxes	25	EA	\$150.00	\$3,750.00	\$100.00	\$2,500.00
89	Adjust Hydrant To Grade	8	EA	\$1,200.00	\$9,600.00	\$1,575.00	\$12,600.00
90	Adjust Manhole Top, Frame And Cover To Grade With Concrete Colar (All Types)	8	EA	\$2,200.00	\$17,600.00	\$650.00	\$5,200.00
91	Relocate Exist Water Meter Incl. Box	8	EA	\$1,500.00	\$12,000.00	\$1,500.00	\$12,000.00
92	Relocate Exist Fire Hydrant	5	EA	\$2,500.00	\$12,500.00	\$3,500.00	\$17,500.00
93	Mobilization – Work Order (Engineer Estimate) Less Than \$5,000.00	1	EA	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
94	Mobilization – Work Order (Engineer Estimate) Over \$5,000.00 And Less Than \$10,000.00	1	EA	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
95	Mobilization – Work Order (Engineer Estimate) Over \$10,000.00 And Less Than \$20,000.00	1	EA	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
96	Mobilization – Work Order (Engineer Estimate) Over \$20,000.00 And Less Than \$50,000.00	1	EA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
97	Mobilization – Work Order (Engineer Estimate) Over \$50,000.00	1	EA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
98	Major Traffic Control – Total Per Project	1	LS	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00

99	Minor Traffic Control – Total Per Project	1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
100	Stream By-pass pumping (all included) – 4" Pump	10	HR	\$75.00	\$750.00	\$65.00	\$650.00
	TOTAL	SECT	ION A	\$2,252,	,025.00	\$2,540	,261.00

Section B	Section B CCTV Storm Drain Pipe Inspections & Clean-Out										
				A & S Paving		The Dickerson Group, Inc.					
ITEM #	DESCRIPTION	APP Q1	ROX. FY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE				
1	Light Stormwater Pipe Cleaning ≥ 15" Dia Pipe Up To 28" Pipe Dia Pipe	100	LF	\$25.00	\$2,500.00	\$8.00	\$800.00				
2	Light Stormwater Pipe Cleaning ≥ 30" Dia Pipe Up To 48" Pipe Dia Pipe	100	LF	\$25.00	\$2,500.00	\$8.00	\$800.00				
3	Light Stormwater Pipe Cleaning ≥ 48" Dia Pipe Up To 60" Pipe Dia Pipe	100	LF	\$30.00	\$3,000.00	\$10.00	\$1,000.00				
4	Heavy Stormwater Pipe Cleaning ≥ 15" Dia Pipe Up To 28" Pipe Dia Pipe	100	LF	\$100.00	\$10,000.00	\$15.00	\$1,500.00				
5	Heavy Stormwater Pipe Cleaning ≥ 30" Dia Pipe Up To 48" Pipe Dia Pipe	100	LF	\$115.00	\$11,500.00	\$20.00	\$2,000.00				
6	Heavy Stormwater Pipe Cleaning ≥ 48" Dia Pipe Up To 60" Pipe Dia Pipe	100	LF	\$130.00	\$13,000.00	\$25.00	\$2,500.00				
7	Televised (CCTV) Inspections Of Existing Storm Drain Pipe Systems At Various Locations Throughout The City Of Lawrenceville Ga $\geq$ 15" Dia Pipe Up To 28" Pipe Dia Pipe	100	LF	\$30.00	\$3,000.00	\$3.00	\$300.00				
8	Televised (CCTV) Inspections Of Existing Storm Drain Pipe Systems At Various Locations Throughout The City Of Lawrenceville Ga $\geq$ 30" Dia Pipe Up To 48" Pipe Dia Pipe	100	LF	\$30.00	\$3,000.00	\$4.00	\$400.00				

PAGE 8

9	Televised (CCTV) Inspections Of Existing Storm Drain Pipe Systems At Various Locations Throughout The City Of Lawrenceville Ga ≥ 48" Dia Pipe Up To 60" Pipe Dia Pipe	100	LF	\$30.00	\$3,000.00	\$5.00	\$500.00
10	Storm Drain Structure Inspection (All Types)	5	EA	\$750.00	\$3,750.00	\$750.00	\$3,750.00
11	Stormwater Inlet/Outlet Structure Cleaning	20	EA	\$1,200.00	\$24,000.00	\$500.00	\$10,000.00
	TOTAL SECT		ION B	\$79,2	50.00	\$23,550.00	
	TOTAL SECT	<b>FIONS</b>	A & B	\$2,331	,275.00	\$2,563	,811.00
	Will vendor hold pricing firm? Renewal Option 1			10% increase		10% increase	
	Will vendor hold pricing firm? Renewal Option 2			10% increase		10% increase	
	Will vendor hold pricing firm? Renewal Option 3			10% increase		10% increase	
	Will vendor hold pricing firm? Renewal Option 4			10% ir	ncrease	10% increase	

## **Recommended Vendors:**

The Dickerson Group, Inc. 871 Old Peachtree Road NW Lawrenceville, GA 30043 770-513-4558 jason.freeland@dickersongroup.net A&S Paving, Inc. 2747 S. Stone Mountain Lithonia Rd. Lithonia, GA 30058 770-482-1597 <u>info@aspaving.com</u>